
Spiel 1 Spiel 2 Gesamt

Spiel 128 15:22 K 1 SEIBERT Günther 49 + 66 = 115 #

K 2 RUMETSHOFER Michael 51 + 61 = 112 #

Spiel 130 15:44 K 3 EXENBERGER Johann 61 + 67 = 128 O #

K 4 GÜNTHER Reinhard 54 + 52 = 106 O

Spiel 132 16:02 K 5 FRÖSCHL Max 59 + 65 = 124 #

K 1 SEIBERT Günther 47 + 69 = 116 # # #

Spiel 134 16:21 K 2 RUMETSHOFER Michael 59 + 54 = 113 # #

K 3 EXENBERGER Johann 55 + 56 = 111 #

Spiel 136 16:38 K 4 GÜNTHER Reinhard 49 + 62 = 111 O #

K 5 FRÖSCHL Max 61 + 53 = 114 #

Spiel 138 16:58 K 1 SEIBERT Günther 61 + 52 = 113 # O

K 3 EXENBERGER Johann 61 + 64 = 125 O #

Spiel 140 17:17 K 2 RUMETSHOFER Michael 48 + 49 = 97 # O

K 4 GÜNTHER Reinhard 47 + 55 = 102 #

Spiel 142 17:37 K 3 EXENBERGER Johann 63 + 56 = 119 #

K 5 FRÖSCHL Max 45 + 61 = 106

Spiel 144 17:55 K 4 GÜNTHER Reinhard 64 + 54 = 118 O #

K 1 SEIBERT Günther 56 + 65 = 121 # O # O

Spiel 146 18:13 K 5 FRÖSCHL Max 61 + 49 = 110 O

K 2 RUMETSHOFER Michael 55 + 40 = 95 O


